BGEBERIT  Sjlent Bogen 45°
= Schenkel lang
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Orig. Nr. gd X X1 K Ks Ks1 Gewicht NPK-Nr. = (#) CHF

mm cm cm cm cm cm kg Sttick Sttick Stiick
305450141 56 7.5 45 3.0 4.0 1.0 0.1 323.112 1 10 32301-1013 6.30
306450141 63 7.5 5.0 25 4.0 1.5 0.14 323.113 1 10 32301-1030 6.80
307450141 75 8.0 5.0 25 40 1.5 0.19 323.114 1 10 32301-1051 7.75
308450141 90 10.0 55 40 55 1.5 0.42 323.115 1 10 32301-1073 12.85
310450141 110 10.0 6.0 40 5.0 1.5 0.57 323.116 1 10 32301-1108 13.15
312450141 135 11.5 7.7 5.0 6.0 25 0.85 323.117 1 15 32301-1132 23.45
315450141 160 15.5 9.5 8.0 9.5 35 1.52 323.118 1 4 32301-1154 36.80
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